
for the installation of tamperpoof exterior screws

Kit KTPS-SM fits all modular Prodigy except EH222 and C2648

Kit Contents:

Screw Use Used

5-16 x ¾ truss head machine 4 bin to unit fasteners

¼ - 20 x ½ pan head machine 4 drain fitting(s) attachment, receiver bracket

#8 x 1 ¼ pan head sheet metal 2 front panel attachment

8-32 x ¼ pan head machine 2 water regulating valve attachment

#8 x 3/8 sheet metal screws 34 back panel, ac condenser & electrical cover attachment

#8 x 1/2 flat head sheet metal 12 back panel of 2 plate models and air filters

#10 x 5/8 pan head sheet metal 2 back panel

10-24 x 1/2 machine 1 back panel of 22 and 30 inch, points down

small tool bit 1

medium tool bit 1

large tool bit 1

Note: Must be done before installation.

Prodigy Instructions:

1. Check kit contents, do not begin unless all parts & tools are available.

2. Remove all panels.

3. Use the enclosed tools to replace all exterior screws with screws from the kit.

4. Air cooled models: Drill 1/8" dia. hole in air filter handle and into the underlying sheet metal. Use
one #8 screw per filter to secure the filter to the panel.

Keep the enclosed tools for future service.

Instructions

17-3420-01



for the installation of tamperpoof exterior screws

Kit KTPS-BIN fits BH360, BH550, BH800, BH900, HTB250, HTB350, HBT555

Kit Contents:

Screw Qty in

kit

BH360
uses

BH550/800
uses

BH900
uses

HTB250/350
uses

HTB555
uses

Used for

#10 x 3/8 pan head sheet metal 3 3 door frame

#8 x ¾ pan head sheet metal 3 3 door frame

5-16 x ¾ truss head machine 5 5 3 baffle screws

10-24 x ½ pan head machine 5 4 5 3 baffle & drain
screws

10-24 x ¼ pan head machine 4 4 door to hinge

#8 x 1 ¼ flat head sheet metal 4 4 hinge to bin

8-32 x ¼ flat head machine 4 4 bin door to hinge

#8 x 1 sheet metal screws 4 2 4 canopy to bin

10-24 x 3/8 pan head machine 3 3 door frame

#6 x ¾ pan head sheet metal 4 4 hinge to bin

#10 x ½ pan head sheet metal 8 door frame and
canopy

#10 x ¾ pan head sheet metal 2 mounting
brackets

10-32 x 3/8 pan head machine 4 door hinges

small tool bit 1

medium tool bit 1

large tool bit 1

Note: Must be done before installation.

1. Check kit contents, do not begin unless all parts & tools are available.

2. Use the enclosed tools to replace all exterior screws with screws from the kit. Keep the enclosed
tools for future service.

17-2925-01 Rev A

Instructions



for the installation of tamperpoof exterior screws

Kit KTPS-LG fits the CME1356, CME1656, CME1856 and CME2006 (C1)

or

Prodigy C1448, C1448, or C2148 (C2)

Kit Contents:

Screw Qty in kit for C1 Qty in kit for C2 Used for

¼ -20 x ½ pan head machine 6 6 drain castings, receiver top bracket

5-16 x ¾ truss head machine 4 4 machine to bin attachment

#8 x 3/8 pan head sheet metal 21 30 or 34 back panel and/or condenser support and
air filter

#8 x 1 ¼ truss head sheet metal 2 2 front panel

8-32 x ¼ pan head machine 6 2 water reg valve (2)

#8 x 1 ¼ pan head sheet metal 3 back panel

#10 x 5/8 pan head sheet metal 2 back panel

#5/16 x 1.2 pan head sheet metal 1 back panel

#8 x 1/2 flat head sheet metal 12 back panel

small tool bit 1 1

large tool bit 1 1

Note: Must be done before installation.

1. Check kit contents, do not begin unless all parts & tools are available.

2. Use the enclosed tools to replace all exterior screws with screws from the kit. Keep the enclosed
tools for future service.

Prodigy Models: Air cooled models: Drill 1/8" dia. hole in air filter handle and into the underlying
sheet metal. Use one #8 screw per filter to secure the filter to the panel.

17-2927-01 Rev A.

Instructions



for the installation of tamperpoof exterior screws

Kit KTPS-MDT fits MDT5 only

Kit Contents:

Screw Qty in kit Used for

#8 x 1 ¼ flat head sheet metal 4 NDE front panels only

#6 - 32 x ½ pan head machine 2 attachment of splash panel

ss washers 2 attachment of splash panel

¼ - 20 x ½ pan head machine 6 drain fittings

#8 x 3/8 pan head sheet metal 46 side and back panels, water line bracket, electrical box cover

#8 x 1 ½ flat head sheet metal 4 top panel

#8 x 5/8 flat head sheet metal 8 louvered panels

small tool bit 1

large tool bit 1

Note: Must be done before installation.

1. Check kit contents, do not begin unless all parts & tools are available.

2. Remove top, front, splash and louvered access panels.

3. Remove strikes from splash panel.

4. Place splash panel onto dispenser, secure at top with two #8 screws.

5. Place washer on phillips head screw and drive screw through catch and into front panel. Access is
from openings where louvered panels were. Repeat for both screws. Note: Left side screw on air
cooled model may require using screwdriver bit and a wrench or a magnet-tipped screwdriver.

6. Use the enclosed tools to replace all exterior screws with screws from the kit. When replacing
screws in the back, replace one at a time to keep interior brackets from falling into unit.

Keep the enclosed tools for future service.

17-2928-01

Instructions



FOR INSTALLATION OF KTPS BAFFLE

The kit’s baffle has holes on one edge to
use as a template and inserts on the other
to use for fastening.

1. Remove and discard plastic baffle.

2. Locate the edge of the baffle with the
holes only.

3. Place that edge of the baffle onto the
front of the canopy. Use the open holes in
the baffle as a template to mark the
drilling locations on the bin canopy. See
figure 1.

4. Drill 3/8” holes in the canopy at the
marked locations.

5. Reverse the baffle top-to-bottom and
place it (see figure 2) so that the inserts in
the baffle are behind the canopy.

6. Attach the baffle to the canopy using
the 5/16 tamperproof screws provided.

7. Replace any exterior screws found with
tamperproof screws from the kit. They will
be behind and under the bin.

17-3327-01

Instructions

Figure 1

Figure 2




